i 6 M4 1128

L& T ez el Ne o) e A

f Race Bl e it an /Cm@mertqoww%ﬂ A<

T4 Phee thek

o A <:‘7 t; X‘: &’*A o e Y RS )
i }W | 75 ,S/ o ‘;(m ;il;: O
e fliﬁ\ o _ -
.. ,g)‘* # 2 Ml
e A S L L s — o
OPEN SETS, CLOSED SETS, ACCUMULATION FOINTS
38, Prove; If A is a finite subset of R, then the derived set A’ of A is empty, ie. A'= @,
39. Prove: Every finite gubset of R is elosed.
40. Prove: If ACB, then A'CB.
4. Prove: A subset B of R? iz closed if and only if d(p,B) = 0 implies p € B, where d{p, ]
inf {d{p,) : ¢ € B}

Prove: AUA’ is closed for any set A.

Prove: AUA’ is the smallest closed set conta
FP=AUA.

Prove: The set of interior points of any set A, written int (A), is an open set.

Prove: The set of interior points of A is the largest open set co
int (4) c G C A, then int (4) = G.

46. Prove: The only subsets of R which are both open and closed are @ and R.
SEQUENCES
47. Prove: If the sequence (&} converge

48. Prove: If the sequence {(a,) converges to 0, and the sequence (b, is bounded, then th
{a,b, also converges to 0.

49. Prove: If d,—~ o and b,- b, then the sequence {@, 1 b, converges to a+b.

- 59, Prove: If a,—>@ and b,— b, then the sequence (s,b,) converges to ab.

ining A, ie. if F is closed and ACFCAUA

ntained in A4, ie. if G is oper

s to bER, then the sequence (|a,— bl) converges to 0.
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